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	Reason for change:
	· According to R4-1802404 (latest version of 38.101-2 including endorsed CRs on to 38.101-2 v 15.0.0), Reference sensitivity power level requirement as well as other receiver requirements are defined in terms of throughput for specific DL [and interferers] power levels. 
However the EIS test procedure defined in 38.810 v2.0.0 (RP-180181) calculates the real DUT sensitivity. This real sensitivity could be compared to the DL power level that should provide at least a 95% throughput. However the test procedure is time consuming. 
On the other hand, EIS test procedure defined in 38.810 v2.0.0 (RP-180181) can’t be used as a reference for interferer test requirements as in those there are 2 degrees of freedom (DL power level and interferer power level). 

· There are some typos in section 5.2.3.4.2 and 5.3 title

	
	

	Summary of change:
	· Modify EIS test procedure for DFF and IFF so no real DUT sensitivity is calculated (saving testing time) but ensuring that throughput is higher than specific throughput requirements when the DL signal applied to each polarization is -3dB lower than the DL signal specified in the requirement.
· Typos in section 5.2.3.4.3

	
	

	Consequences if not approved:
	EIS test procedure will take longer and could not be leveraged by RAN5 to define other receiver test cases.
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<< Start of changes >>
5.2.1.4.4
EIS Measurement Procedure

The RX beam peak direction is found with a 3D RSRP scan (separately for each orthogonal polarization) with a grid that is TBD. The RX beam peak direction is where the maximum total component of RSRP is found.

1)
Establish a connection between the DUT and the SS with the downlink signal – 3 dB applied to the θ-polarization of the measurement antenna 

2)
Position the UE so that the beam is formed towards the measurement antenna in the RX beam peak direction

3)
Measure the throughput. It should exceed the requirements for the specified reference measurement channel

4)
Switch the downlink to the φ-polarization of the measurement antenna

5)
Measure the throughput. It should exceed the requirements for the specified reference measurement channel



<< Next change >>

5.2.3.4.2
EIS Measurement Procedure

The RX beam peak direction is found with a 3D RSRP scan (separately for each orthogonal polarization) with a grid that is TBD. The RX beam peak direction is where the maximum total component of RSRP is found.

1)
Establish a connection between the DUT and the SS with the downlink signal – 3dB applied to the θ -polarization of the measurement antenna 

2)
Position the UE so that the beam is formed towards the measurement antenna in the RX beam peak direction

3)
Measure the throughput. It should exceed the requirements for the specified reference measurement channel

4)
Switch the downlink to the φ -polarization of the measurement antenna

5)
Measure the throughput. It should exceed the requirements for the specified reference measurement channel



5.3
Test method applicability

<< End of changes >>
